FR26EEEIES BALSTHABRAS

NP
"EE vk WEHE S60M 3X40 P6OM P6OW 3X20 S40W
& NERL 1 5 2 2 1 2 7
1 |#z=nya—F405657 A 35 4 7 7 8 7 2
1%H7/=YRa7 10.129 9.494 10.231 10.195 9.456 9.894
H{&NERL 2 1 1 17 6 1
2 mE RAUE 27 8 8 0 0 3 8
1RHYRIT 10.208 9.517 10.023 0.000 9.078 10.218
H{&NERL 3 3 5 11 4 5 3
3 FITe55 RAUB 25 6 4 0 5 4 6
1Rp=YRIT 10.149 9.403 10.105 10.029 9.178 10.133
& NERL 4 14 10 3 1 2
4 70vy RAB 21 0 0 0 6 8 7
1RHYRIT 0.000 8.581 10.119 10.045 9.500 10.153
& NERL 5 2 6 3 10
5 RERE RAUB 16 7 3 6 0 0 0
1R5HURIT 10.154 9.306 10.222 0.000 0.000 9.719
& NERL 6 11 11 14 2 4 6
6 |Fnx745470057]  RAUE 15 0 0 0 7 5 3
1RpURI7 9.879 9.156 10.058 10.072 9.194 9.898
& NERL 7 10 3 6 5
r4 Wz RAUB 13 0 6 3 0 0 4
1RHYRIT 9.966 9.478 10.148 0.000 0.000 9.963
H{&NERL 8 8 10 13 3 4
8 ®it=&H+t RAUB 12 1 0 0 0 6 5
1%5=UZIT 10.047 9.169 10.086 0.000 9.361 10.068
& NERL 9 12 9 1 7 9
9 Back Fire RAE 10 0 0 8 0 2 0
1RdH=UAI7 9.665 9.214 10.244 0.000 9.061 9.729
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ik =Liva 10 7 8 4
10 R—xvk RAUE 8 2 1 5 0 0 0
1RH=YZI7 10.063 9.222 10.179 0.000 0.000 0.000
Gk [:Fiva 11 4 7 18
11 F—=ILBX RATE 7 5 2 0 0 0 0
1RHYZIT 10.141 9.269 9.990 0.000 0.000 0.000
%=L 12 4
12 EMESHMBK RAUE 5 0 5 0 0 0 0
1RH1=YRI7 0.000 9.414 0.000 0.000 0.000 0.000
i EL v 13 5
13 AAA RAUE 4 0 0 4 0 0 0
1RH=YZT7 0.000 0.000 10.168 0.000 0.000 0.000
B A NE L 14 6
14 HUIZE RAUB 3 3 0 0 0 0 0
1RHYZIT 10.119 0.000 0.000 0.000 0.000 0.000
B & IE {2 15 13 15 7
15 REG—FR RAUE 2 0 0 2 0 0 0
1RHI-YRI7 9.393 7.678 10.122 0.000 0.000 0.000
k%=L 16 13 22 8
16 REARAH RAUE 1 0 0 0 0 0 1
1RH=YZT7 0.000 9.036 9.873 0.000 0.000 9.841
i =Livi 17 8
17 KK RAUE 1 0 0 1 0 0 0
1RHI=YRI7 0.000 0.000 10.121 0.000 0.000 0.000
ik %:Yiva 18 9 12 15
18 | RESATIVO5T RAUE 0 0 0 0 0 0 0
1RH=YZT7 9.991 9.050 10.037 0.000 0.000 0.000
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B & IE {2 19 14 23
19 EuAAB RAUE 0 0 0 0 0 0 0
1RH=YZI7 9.238 0.000 9.302 0.000 0.000 0.000
k%=L 20 9
20 NRT RATE 0 0 0 0 0 0 0
1RHYZIT 0.000 0.000 10.215 0.000 0.000 0.000
%=L 21 12
21 |z 25470057 RAVB 0 0 0 0 0 0 0
1RH1=YRI7 0.000 0.000 10.097 0.000 0.000 0.000
i EL v 22 16
22 F—AS0S RAUE 0 0 0 0 0 0 0
1RH=YZT7 0.000 0.000 10.029 0.000 0.000 0.000
B A NE L 23 19
23 BEC RAUB 0 0 0 0 0 0 0
1RHYZIT 0.000 0.000 9.933 0.000 0.000 0.000
B & IE {2 24 20
24| A—Iksa14<— RAUE 0 0 0 0 0 0 0
1RHI-YRI7 0.000 0.000 9.907 0.000 0.000 0.000
& IE AL 25 21
25 IFEF RAUE 0 0 0 0 0 0 0
1RH=YZT7 0.000 0.000 9.886 0.000 0.000 0.000
i =Livi 26
26| 77497747 RAUE 0 0 0 0 0 0 0
1RHI=YRI7 0.000 0.000 0.000 0.000 0.000 0.000

3/3 R=




